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A rope of length 180 m is cut into several pieces, whose lengths form an arithmetic sequence
with common difference d m. If the shortest piece is 1 m long and the longest piece is 23 m

long, find the value of d.

% You may use the space below for scratch work. Write only your answer in the answer sheet.
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The positive difference between the zeros of the quadratic expression z2+ kz+ 3 is /109 .
Find the possible values of k.

% You may use the space below for scratch work. Write only your answer in the answer sheet.
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9
Find the constant term in the expansion of (:c2 — 5) .

Y ou may use the space below for scratch work. Write only your answer in the answer sheet.
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What base-10 fraction is represented by the base-5 decimal 0.35?

% You may use the space below for scratch work. Write only your answer in the answer sheet.
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There are four points in space, not all in the same plane. How many planes can be drawn such that

they are equidistant from these points?

#* You may use the space below for scratch work. Write only your answer in the answer sheet.



